






 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



























































Year Reason Year Cost($) Accumulative Total ($)
1 D, T, IM, TR 154,000 154,000
2 M 6,000 200,000
3 M 3,000 203,000
4 M 14,000 217,000
5 M 1,000 218,000

D = Design TR = Training
T = Testing IM = Implementation
M = Maintenance


































































